Exhibit 2_C: Cost Proposal Pricing for ODOT Central Regions (Divisions 3 and 4)

		COMPLETE				
		STATE				
		ESTIMATED		Commodity Code/	Unit	Amount
Stripe Type	Item	Quantities	Unit	Description	Price	, and and
(Items 1-67)	1	5,000	LF	Traffic Stripe (paint - Standard Fast-Dry) (white)	\$0.20	\$1,000.00
Surface	1	5,000	LF		φ0.20	φ1,000.00
Stripping with	0	5 000		(4" Wide)(Spray)(SEE NOTE A)	¢0.00	¢4,000,00
Glass Beads	2	5,000	LF	Traffic Stripe (paint - High Build) (white)	\$0.20	\$1,000.00
per Specifications.	0	5 000		(4" Wide)(Spray)(SEE NOTE A)	\$ 0.00	* 4 000 00
See Draft	3	5,000	LF	Traffic Stripe (paint - Standard Fast-Dry) (yellow)	\$0.20	\$1,000.00
Special				(4" Wide)(Spray)(SEE NOTE A)		
Provision for	4	5,000	LF	Traffic Stripe (paint - High Build) (yellow)	\$0.20	\$1,000.00
standard fast- dry, and High				(4" Wide)(Spray)(SEE NOTE A)		
Build	5	261,500	LF	Traffic Stripe (plastic) (white)(4" wide)	\$0.42	\$109,830.00
Waterborne				(0.070" Thickness) (SEE NOTE B)		
Paint	6	159,837	LF	Traffic Stripe (plastic) (white)(4" wide)	\$0.47	\$75,123.39
Specifications.				(0.090" Thickness) (SEE NOTE B)		
	7	111,708	LF	Traffic Stripe (plastic) (white)(4" wide)	\$0.47	\$52,502.76
				(0.120" Thickness) (SEE NOTE B)		
	8	196,000	LF	Traffic Stripe (plastic) (yellow)(4" wide)	\$0.42	\$82,320.00
		•		(0.070" Thickness) (SEE NOTE B & G)		
	9	259,639	LF	Traffic Stripe (plastic) (yellow)(4" wide)	\$0.47	\$122,030.33
				(0.090" Thickness) (SEE NOTE B & G)		* ,
	10	83,546	LF	Traffic Stripe (plastic) (yellow)(4" wide)	\$0.47	\$39,266.62
	10	00,010		(0.120" Thickness) (SEE NOTE B & G)	ψ0.+1	<i>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</i>
	11	100,000	LF	Traffic Stripe (plastic) (white)(6" wide)	\$0.46	\$46.000.00
		100,000	L1	(0.070" thickness) (SEE NOTE B)	ψ0.+0	φ+0,000.00
	12	50,000	LF	Traffic Stripe (plastic) (white)(6" wide)	\$0.70	\$35,000.00
	12	50,000	LF	(0.090" thickness) (SEE NOTE B)	φ0.70	\$35,000.00
	10	005 405			¢0.70	
	13	665,165	LF	Traffic Stripe (plastic) (white)(6" wide)	\$0.70	\$465,615.50
	4.4	40,400		(0.120" thickness) (SEE NOTE B)	\$0.40	#00 500 00
	14	49,100	LF	Traffic Stripe (plastic) (yellow)(6" wide)	\$0.46	\$22,586.00
				(0.070" thickness) (SEE NOTE B & G)		
	15	5,000	LF	Traffic Stripe (plastic) (yellow)(6" wide)	\$0.71	\$3,550.00
				(0.090" thickness) (SEE NOTE B & G)		
	16	388,497	LF	Traffic Stripe (plastic) (yellow)(6" wide)	\$0.72	\$279,717.84
				(0.120" thickness) (SEE NOTE B & G)		
	17	6,419	LF	Traffic Stripe (plastic) (white)(8" wide)	\$0.59	\$3,787.21
				(0.070" Thickness) (SEE NOTE B)		
	18	6,419	LF	Traffic Stripe (plastic) (white)(8" wide)	\$0.81	\$5,199.39
				(0.090" Thickness) (SEE NOTE B)		
	19	12,000	LF	Traffic Stripe (plastic) (white)(8" wide)	\$1.03	\$12,360.00
				(0.120" Thickness) (SEE NOTE B)		
	20	2,429	LF	Traffic Stripe (plastic) (yellow)(8" wide)	\$0.59	\$1,433.11
				(0.070" Thickness) (SEE NOTE B & G)	,	
	21	2,429	LF	Traffic Stripe (plastic) (yellow)(8" wide)	\$0.81	\$1,967.49
		_,•		(0.090" Thickness) (SEE NOTE B & G)	÷	+ 1,000110
	22	2,429	LF	Traffic Stripe (plastic) (yellow)(8" wide)	\$1.13	\$2,744.77
		2,120		(0.120" Thickness) (SEE NOTE B & G)	φ1.10	Ψ = ,1 / /
	23	1,958	LF	Traffic Stripe (plastic) (white) (12" wide)	\$2.30	\$4,503.40
	20	1,000	<u> </u>	(0.120" Thickness) (SEE NOTE B & G)	ψ2.30	φ+,505.+0
	24	1,250	LF	Traffic Stripe (plastic) (yellow) (12" wide)	\$2.04	\$2,550.00
	24	1,200	LF	(0.120" Thickness) (SEE NOTE B & G)	φ 2.04	ψ ∠ ,000.00
	05	1 150	1 -		¢0.00	¢11 474 40
	25	1,159	LF	Traffic Stripe (plastic) (white) (24" wide)	\$9.90	\$11,474.10
				(0.120" Thickness) (SEE NOTE B)	A=0.65	*•••••••••••••
	26	533	EA	Traffic Stripe (plastic) arrows, single	\$52.00	\$27,716.00
				(0.120" Thickness) (SEE NOTE B & G)		
	27	520	EA	Traffic Stripe (plastic) arrows, double	\$52.00	\$27,040.00
				(0.120" Thickness) (SEE NOTE B & G)		
	28	520	EA	Traffic Stripe (plastic) (word)	\$37.00	\$19,240.00

Stripe Type	ltom	ESTIMATED Quantities	Unit	Commodity Code/ Description	Unit Price	Amount
Surpe Type	item	Quantities	Onit	includes letters and numbers (8 ft. high)	FIICE	
				(0.120" Thickness) (SEE NOTE B & G)		
	29	13	EA	Traffic Stripe (plastic) (rxr symbols)	\$1,000.00	\$13,000.00
	20	10		includes "x", "r"s, transverse lines, stop	\$1,000.00	\$10,000.00
				lines, solid and dashed white lines and solid		
				double or solid and dashed yellow center		
				lines. Also includes Yield Triangles		
				(24" x 36") (0.120" Thickness) (SEE NOTE B & G)		
	30	13	EA	Traffic Stripe (plastic) (rxr symbols)	\$1,000.00	\$13,000.00
				alternate (narrow lane) design includes "x", "r"s,		
				transverse lines, stop lines, solid and		
				dashed white lines or solid double or		
				solid and dashed yellow center lines.		
				Also includes Yield Triangles (24" x 36")		
				(0.120" Thickness) (SEE NOTE B & G)		
	31	974,390	LF	Traffic Stripe (multi-polymer) (white)	\$0.48	\$467,707.20
				(4" wide) (SEE NOTE I)		
	32	1,042,909	LF	Traffic Stripe (multi-polymer) (yellow)	\$0.48	\$500,596.32
				(4" wide) (SEE NOTE I)		
	33	13,076	LF	Traffic Stripe (multi-polymer) (black)	\$0.54	\$7,061.04
				(4" wide) (SEE NOTE I)		
	34	599,419	LF	Traffic Stripe (multi-polymer) (white)	\$0.72	\$431,581.68
				(6" wide) (SEE NOTE I)		
	35	367,606	LF	Traffic Stripe (multi-polymer) (yellow)	\$0.73	\$268,352.38
				(6" wide) (SEE NOTE I)	<u> </u>	<u> </u>
	36	177,512	LF	Traffic Stripe (multi-polymer) (black)	\$0.92	\$163,311.04
	07	00.440		(6" wide) (SEE NOTE I)	¢4.04	\$04,000,70
	37	28,118	LF	Traffic Stripe (multi-polymer) (white)	\$1.21	\$34,022.78
	38	7,487	LF	(8" wide) (SEE NOTE I) Traffic Stripe (multi-polymer) (yellow)	\$1.10	\$8,235.70
	30	7,407	LF	(8" wide) (SEE NOTE I)	φ1.10	φ0,235.70
	39	11,141	LF	Traffic Stripe (multi-polymer) (white)	\$2.20	\$24,510.20
	00	11,171		(12" wide) (SEE NOTE I)	ψ2.20	φ24,010.20
	40	15,914	LF	Traffic Stripe (multi-polymer) (yellow)	\$1.98	\$31,509.72
		10,011		(12" wide) (SEE NOTE I)	φ1.00	\$01,000.12
	41	6,922	LF	Traffic Stripe (multi-polymer) (white)	\$11.55	\$79,949.10
				24" wide Stop Bar (SEE NOTE I)	,	, ,,, , ,
	42	7,902	LF	Traffic Stripe (multi-polymer) (white)	\$13.75	\$108,652.50
				24" wide Continental Cross Walk (SEE NOTE I)		
	43	1,230	EA	Traffic Stripe (multi-polymer) (white)	\$64.90	\$79,827.00
				Arrows, Single (SEE NOTE I)		
	44	165	EA	Traffic Stripe (multi-polymer) (white)	\$64.90	\$10,708.50
				Arrows, Double (SEE NOTE I)		
	45	24	EA	Traffic Stripe (multi-polymer) (white) (word)	\$42.90	\$1,029.60
				Includes Letters & Numbers (8' high)		
			- :	(SEE NOTE I)		
	46	29	EA	Traffic Stripe (multi-polymer) (symbols)	\$1,000.00	\$29,000.00
	47	100	= .	RxR Symbols (SEE NOTE I)	* 0.000.00	* ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~
	47	100	EA	Traffic Stripe (Pre-Formed) (symbols)	\$3,200.00	\$320,000.00
				(Shields Interstate, US & Highway Route		
				Shields) The route shields shall be Pre-Formed Thermoplastic in accordance		
			1	with the Manufacturer's Specification 8'x20'		
				(SEE NOTE B & G)	<u> </u>	
	48	100	EA	Traffic Stripe (paint - Standard Fast-Dry)	\$100.00	\$10,000.00
	+0	100	L7	(rxr symbols) includes "x", "r"s, transverse lines, stop	φ100.00	φ10,000.00
				lines, solid and dashed white lines and		
				solid double or solid and dashed yellow		
				center lines. (Spray)		
				(SEE NOTE A)		
•					+ +	

		ESTIMATED		Commodity Code/	Unit	Amount
Stripe Type	Item	Quantities	Unit	Description	Price	
	49	100	EA	Traffic Stripe (paint - High Build)	\$100.00	\$10,000.00
				(rxr symbols) includes "x", "r"s, transverse lines, stop		
				lines, solid and dashed white lines and		
				solid double or solid and dashed yellow		
				center lines. (Spray)		
				(SEE NOTE A)		
	50	100	EA	Traffic Stripe (paint - Standard Fast-Dry)	\$100.00	\$10,000.00
				(rxr symbols) alternate (narrow lane) design includes		
				"x", "r"s, transverse lines, stop lines, solid and		
				dashed white lines and solid double or		
				solid and dashed yellow center lines. (Spray)		
				(SEE NOTE A)		
	51	100	EA	Traffic Stripe (paint - High Build)	\$100.00	\$10,000.00
				(rxr symbols) alternate (narrow lane) design includes		, ,
				"x", "r"s, transverse lines, stop lines, solid and		
				dashed white lines and solid double or		
				solid and dashed yellow center lines. (Spray)		
				(SEE NOTE A)		
	52	10,000	EA	Pavement markers, Class A (retro-reflective)	\$8.00	\$80,000.00
	JZ	10,000		Type 1 (amber or crystal), nominal size 4" x 2" x	φ0.00	ψου,υου.υυ
	$ \rightarrow $			0.500", 1.87 sq. in. reflective (SEE NOTE C)		
	50	50.000			¢0.00	¢400.000.00
	53	50,000	EA	Pavement markers, Class A (retro-reflective)	\$8.00	\$400,000.00
				Type 2 (crystal/crystal; crystal/red; amber/amber;		
				amber/red; blue/blue) nominal size 4" x 2" x 0.500",		
				(SEE NOTE C)	<u> </u>	* ~~ / ~~
	54	100	EA	Pavement markers, reflective lens replacement,	\$2.64	\$264.00
				Class C, Type 1 (amber or crystal)		
				(SEE NOTE D)		
	55	100	EA	Pavement markers, reflective lens replacement,	\$2.64	\$264.00
				Class C, Type 2 (crystal/crystal; crystal/red;		
				amber/amber; amber/red; blue/blue)(SEE NOTE D)		
	56	1,000	LF	Rumble Strip, Raised, (Type A) (4" wide)	\$5.95	\$5,950.00
				(SEE NOTE J)		
	57	1,000	LF	Rumble Strip, Raised, (Type B) (4" wide)	\$5.95	\$5,950.00
				(SEE NOTE J)		
	58	1,000	LF	Rumble Strip, Raised, (Type A) (6" wide)	\$7.05	\$7,050.00
				(SEE NOTE J)		
	59	1,000	LF	Rumble Strip, Raised, (Type B) (6" wide)	\$7.05	\$7,050.00
				(SEE NOTE J)		
	60	65,840	LF	Rumble strip - method HMA (Continuous)	\$1.11	\$73,082.40
		·		(SEE DRAWINGS EXHIBIT 1)	· ·	
	61	1,003,840	LF	Rumble Strip - Centerline HMA (Continuous) for left	\$1.25	\$1,254,800.00
		,,		shoulders, centerlines, median openings & turning lanes.	÷ · · 2 0	, , , , , , , , , , , , , , , , , , , ,
				(SEE DRAWINGS EXHIBIT 1)		
	62	68	EAGP	Milled rumble strip - method HMA (Cyclic Group)	\$1,090.00	\$74,120.00
				(SEE DRAWINGS EXHIBIT 1)	+ -,000.00	÷: ,,: <u>=</u> 0.00
	63	65,840	LF	Rumble strip - method HMA (Cyclic)	\$1.11	\$73,082.40
		00,010		(SEE DRAWINGS EXHIBIT 1)	ψι.ΤΙ	<i>₩</i> , 0,002.40
	64	7,360	LF	Rumble strip - method PCC (Continuous)	\$1.29	\$9,494.40
		7,000		(SEE DRAWINGS EXHIBIT 1)	ψ1.23	ψυ,τυτ.τυ
	65	111,520	LF	Rumble Strip - Centerline PCC (Continuous) for left	\$1.33	\$148,321.60
	00	111,020		shoulders, centerlines, median openings & turning lanes.	φ1.00	ψ1+0,021.00
	\vdash			(SEE DRAWINGS EXHIBIT 1)		
	66	8	EACD	Milled rumble strip - method PCC (Cyclic Group)	\$1,420.00	¢11 260 00
	00	0	LAGP		φ1,420.00	\$11,360.00
	~-	7 000		(SEE DRAWINGS EXHIBIT 1)	#4 00	¢0,400,00
	67	7,360	LF	Rumble strip - Method PCC (Cyclic)	\$1.28	\$9,420.80
				(SEE DRAWINGS EXHIBIT 1)	± -	
(Items 68-95) Grooved	68	20,655	LF	Traffic Stripe (plastic) (white)(4" wide) - Grooving	\$0.98	\$20,241.90
Stripping with				(0.070" Thickness) (SEE NOTE B & H)		
Glass Beads	69	20,655	LF	Traffic Stripe (plastic) (white)(4" wide) - Grooving	\$1.03	\$21,274.65

		ESTIMATED		Commodity Code/	Unit	Amount
Stripe Type	Item	Quantities	Unit	Description	Price	
per				(0.090" Thickness) (SEE NOTE B & H)		
Specifications. See Note H for	70	20,655	LF	Traffic Stripe (plastic) (white)(4" wide) - Grooving	\$1.04	\$21,481.20
Grooving				(0.120" Thickness) (SEE NOTE B & H)		
Specifications.	71	20,655	LF	Traffic Stripe (plastic) (yellow)(4" wide) - Grooving	\$0.98	\$20,241.90
				(0.070" Thickness) (SEE NOTE B & H)		
	72	20,655	LF	Traffic Stripe (plastic) (yellow)(4" wide) - Grooving	\$1.03	\$21,274.65
				(0.090" Thickness) (SEE NOTE B, G & H)		
	73	20,655	LF	Traffic Stripe (plastic) (yellow)(4" wide) - Grooving	\$1.06	\$21,894.30
				(0.120" Thickness) (SEE NOTE B, G & H)		
	74	24,327	LF	Traffic Stripe (plastic) (white)(6" wide) - Grooving	\$1.05	\$25,543.35
				(0.070" thickness) (SEE NOTE B & H)		
	75	24,327	LF	Traffic Stripe (plastic) (white)(6" wide) - Grooving	\$1.29	\$31,381.83
				(0.090" thickness) (SEE NOTE B & H)		
	76	24,327	LF	Traffic Stripe (plastic) (white)(6" wide) - Grooving	\$1.30	\$31,625.10
				(0.120" thickness) (SEE NOTE B & H)	* 4 • • •	<u> </u>
	77	24,327	LF	Traffic Stripe (plastic) (yellow)(6" wide) - Grooving	\$1.05	\$25,543.35
	70	04.007		(0.070" thickness) (SEE NOTE B, G & H)	* 1.00	* 04 005 40
	78	24,327	LF	Traffic Stripe (plastic) (yellow)(6" wide) - Grooving	\$1.30	\$31,625.10
	70	04.007		(0.090" thickness) (SEE NOTE B, G & H)	* 4.04	<u>*************************************</u>
	79	24,327	LF	Traffic Stripe (plastic) (yellow)(6" wide) - Grooving	\$1.31	\$31,868.37
	00	1.000		(0.120" thickness) (SEE NOTE B, G & H)	¢4 47	¢4 470 00
	80	1,000	LF	Traffic Stripe (plastic) (white)(8" wide) - Grooving	\$1.47	\$1,470.00
	04	1.000		(0.070" Thickness) (SEE NOTE B & H)	¢4.00	¢4,000,00
	81	1,000	LF	Traffic Stripe (plastic) (white)(8" wide) - Grooving	\$1.69	\$1,690.00
	00	1.000		(0.090" Thickness) (SEE NOTE B & H)	¢4.04	¢1 010 00
	82	1,000	LF	Traffic Stripe (plastic) (white)(8" wide) - Grooving	\$1.91	\$1,910.00
	0.2	1 000	LF	(0.120" Thickness) (SEE NOTE B & H)	¢4 47	¢1 470 00
	83	1,000	LF	Traffic Stripe (plastic) (yellow)(8" wide) - Grooving (0.070" Thickness) (SEE NOTE B, G & H)	\$1.47	\$1,470.00
	84	1,000	LF		\$1.69	¢1 600 00
	04	1,000	LF	Traffic Stripe (plastic) (yellow)(8" wide) - Grooving (0.090" Thickness) (SEE NOTE B, G & H)	φ1.09	\$1,690.00
	85	1,000	LF	Traffic Stripe (plastic) (yellow)(8" wide) - Grooving	\$2.04	\$2,040.00
	- 65	1,000	LF	(0.120" Thickness) (SEE NOTE B, G & H)	φ2.04	φ2,040.00
	86	15,300	LF	Pre-formed plastic tape) (white)(4" wide) - Grooving	\$6.80	\$104,040.00
	00	13,300	LI	(SEE NOTE B, G & H)	φ0.00	\$104,040.00
	87	15,300	LF	Pre-formed plastic tape) (yellow)(4" wide) - Grooving	\$6.80	\$104,040.00
	07	10,000		(SEE NOTE B, G & H)	φ0.00	φ104,040.00
	88	15,300	LF	Pre-formed plastic tape) (white)(6" wide) - Grooving	\$8.45	\$129,285.00
	00	10,000		(SEE NOTE B, G & H)	φ010	φ120,200.00
	89	15,300	LF	Pre-formed plastic tape) (yellow)(6" wide) - Grooving	\$8.45	\$129,285.00
	00	10,000		(SEE NOTE B, G & H)	40.10	<i><i><i>ϕ</i></i> 120,200.00</i>
	90	28,917	LF	Traffic Stripe (multi-polymer) (white) - Grooving	\$1.05	\$30,362.85
		20,017		(4" wide) (SEE NOTE H & I)	φ1.00	φ00,002.00
	91	28,917	LF	Traffic Stripe (multi-polymer) (yellow) - Grooving	\$1.05	\$30,362.85
	01	20,011		(4" wide) (SEE NOTE B.2 & I)	¢1.00	<i>\\</i> 00,002.00
	92	16,524	LF	Traffic Stripe (multi-polymer) (white) - Grooving	\$1.34	\$22,142.16
				(6" wide) (SEE NOTE H & I)	¢¢.	<i> </i>
	93	16,524	LF	Traffic Stripe (multi-polymer) (yellow) - Grooving	\$1.33	\$21,976.92
				(6" wide) (SEE NOTE H & I)	¢cc	<i>4</i> 1 ,010.02
	94	1,000	LF	Traffic Stripe (multi-polymer) (white) - Grooving	\$2.13	\$2,130.00
	<u> </u>	,		(8" wide) (SEE NOTE H & I)	+=0	,
	95	1,000	LF	Traffic Stripe (multi-polymer) (yellow) - Grooving	\$1.94	\$1,940.00
		,		(8" wide) (SEE NOTE H & I)		, ,
(Items 96-123)	96	20,655	LF	Traffic Stripe (plastic) (white)(4" wide) - Grooving	\$2.07	\$42,755.85
Grooved				(0.070" Thickness) (SEE NOTE B & H)	+	. ,
Stripping with All- Weather	97	20,655	LF	Traffic Stripe (plastic) (white)(4" wide) - Grooving	\$2.15	\$44,408.25
Reflective				(0.090" Thickness) (SEE NOTE B & H)	, c	. ,
Elements and	98	20,655	LF	Traffic Stripe (plastic) (white)(4" wide) - Grooving	\$2.16	\$44,614.80
Olean Deede		- , -		(0.120" Thickness) (SEE NOTE B & H)	÷=··•	. ,
Glass Beads. See Draft						

		ESTIMATED		Commodity Code/	Unit	Amount
Stripe Type	Item	Quantities	Unit	Description	Price	
Provision for				(0.070" Thickness) (SEE NOTE B, G & H)		
All-Weather	100	20,655	LF	Traffic Stripe (plastic) (yellow)(4" wide) - Grooving	\$2.15	\$44,408.25
Specifications.				(0.090" Thickness) (SEE NOTE B, G & H)	, <u>,</u>	* ,
	101	20,655	LF	Traffic Stripe (plastic) (yellow)(4" wide) - Grooving	\$2.17	\$44,821.35
				(0.120" Thickness) (SEE NOTE B, G & H)		. ,
	102	24,327	LF	Traffic Stripe (plastic) (white)(6" wide) - Grooving	\$2.36	\$57,411.72
				(0.070" thickness) (SEE NOTE B & H)		
	103	24,327	LF	Traffic Stripe (plastic) (white)(6" wide) - Grooving	\$2.60	\$63,250.20
				(0.090" thickness) (SEE NOTE B & H)		
	104	24,327	LF	Traffic Stripe (plastic) (white)(6" wide) - Grooving	\$2.61	\$63,493.47
				(0.120" thickness) (SEE NOTE B & H)		
	105	24,327	LF	Traffic Stripe (plastic) (yellow)(6" wide) - Grooving	\$2.36	\$57,411.72
				(0.070" thickness) (SEE NOTE B, G & H)		
	106	24,327	LF	Traffic Stripe (plastic) (yellow)(6" wide) - Grooving	\$2.61	\$63,493.47
				(0.090" thickness) (SEE NOTE B, G & H)		
	107	24,327	LF	Traffic Stripe (plastic) (yellow)(6" wide) - Grooving	\$2.65	\$64,466.55
				(0.120" thickness) (SEE NOTE B, G & H)		
	108	1,000	LF	Traffic Stripe (plastic) (white)(8" wide) - Grooving	\$3.04	\$3,040.00
				(0.070" Thickness) (SEE NOTE B & H)		4
	109	1,000	LF	Traffic Stripe (plastic) (white)(8" wide) - Grooving	\$3.26	\$3,260.00
				(0.090" Thickness) (SEE NOTE B & H)		
	110	1,000	LF	Traffic Stripe (plastic) (white)(8" wide) - Grooving	\$3.48	\$3,480.00
				(0.120" Thickness) (SEE NOTE B & H)	<u> </u>	<u> </u>
	111	1,000	LF	Traffic Stripe (plastic) (yellow)(8" wide) - Grooving	\$3.04	\$3,040.00
				(0.070" Thickness) (SEE NOTE B, G & H)	* 2.42	* ~
	112	1,000	LF	Traffic Stripe (plastic) (yellow)(8" wide) - Grooving	\$3.48	\$3,480.00
	440	4.000		(0.090" Thickness) (SEE NOTE B, G & H)	¢0.50	¢2 500 00
	113	1,000	LF	Traffic Stripe (plastic) (yellow)(8" wide) - Grooving	\$3.59	\$3,590.00
	114	15,300	LF	(0.120" Thickness) (SEE NOTE B, G & H) Pre-formed plastic tape) (white)(4" wide) - Grooving	\$6.80	\$104,040.00
	114	15,500	LF	(SEE NOTE B, G & H)	\$0.0U	\$104,040.00
	115	15,300	LF	Pre-formed plastic tape) (yellow)(4" wide) - Grooving	\$6.80	\$104,040.00
	115	13,300	<u> </u>	(SEE NOTE B, G & H)	φ0.00	φ104,040.00
	116	15,300	LF	Pre-formed plastic tape) (white)(6" wide) - Grooving	\$10.65	\$162,945.00
	110	10,000		(SEE NOTE B, G & H)	φ10.00	φ102,040.00
	117	15,300	LF	Pre-formed plastic tape) (yellow)(6" wide) - Grooving	\$8.45	\$129,285.00
		10,000		(SEE NOTE B, G & H)	φ0.40	φ120,200.00
	118	28,917	LF	Traffic Stripe (multi-polymer) (white) - Grooving	\$2.16	\$62,460.72
				(4" wide) (SEE NOTE H & I)	, , , , , , , , , , , , , , , , , , ,	· · / · ·
	119	28,917	LF	Traffic Stripe (multi-polymer) (yellow) - Grooving	\$2.16	\$62,460.72
				(4" wide) (SEE NOTE B.2 & I)		
	120	16,524	LF	Traffic Stripe (multi-polymer) (white) - Grooving	\$2.75	\$45,441.00
				(6" wide) (SEE NOTE H & I)		
	121	16,524	LF	Traffic Stripe (multi-polymer) (yellow) - Grooving	\$2.74	\$45,275.76
				(6" wide) (SEE NOTE H & I)		
	122	1,000	LF	Traffic Stripe (multi-polymer) (white) - Grooving	\$3.70	\$3,700.00
				(8" wide) (SEE NOTE H & I)		
	123	1,000	LF	Traffic Stripe (multi-polymer) (yellow) - Grooving	\$3.49	\$3,490.00
				(8" wide) (SEE NOTE H & I)		
(Items 124-130)	124	4,155,624	LF	Pavement marking removal (traffic stripe, includes	\$0.10	\$415,562.40
Removal				grooved)(paint)(plastic)(multi-polymer)(4" wide)	ļŢ	
				(SEE NOTE F)		
	125	2,752,112	LF	Pavement marking removal (traffic	\$0.10	\$275,211.20
				grooved)(paint)(plastic)(multi-polymer)(6" wide)		
				(SEE NOTE F)		•
	126	9,903	EA	Pavement marking removal (symbol,	\$5.50	\$54,466.50
				word or arrow - single or double)		
	10-	100	-	(SEE NOTE F)		<u> </u>
	127	100	EA	Removal of pre-installed Class C	\$33.00	\$3,300.00
I				pavement marker castings		

		ESTIMATED		Commodity Code/	Unit	Amount
Stripe Type	Item	Quantities	Unit	Description	Price	
				(SEE NOTE E)		
	128	80,714	LF	Pavement marking removal (traffic stripe, includes	\$1.10	\$88,785.40
				grooved)(paint)(plastic)(multi-polymer)(8" wide)		
				(SEE NOTE F)		
	129	26,021	LF	Pavement marking removal (traffic stripe, includes	\$0.17	\$4,423.57
				grooved)(paint)(plastic)(multi-polymer)(12" wide)		
				(SEE NOTE F)		
	130	10,367	LF	Pavement marking removal (traffic stripe, includes	\$2.42	\$25,088.14
				grooved)(paint)(plastic)(multi-polymer)(24" wide)		
				(SEE NOTE F)		